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Part I Multiple Choice. 

#1. (1/2 Point) Which of the following is not a valid html tag (Circle one)?

a) <marquee>
b) <dl>
c) <span>
d) <textarea>
#2. (1/2 Point) TCP is a transport layer protocol.
a) True

b) False

#3. (1/2 Point) IP relies on UDP for reliable delivery of packets.
a) True

b) False

#4. (1/2 Point) Sockets are (Circle one):

a) An abstraction for communications built on top of TCP/IP

b) Available only in Java

c) A Microsoft Invention

d) An abstraction for communications built on top of HTTP

e) Permanent connections

#5. (1/2 Point) In Javascript the this keyword (Circle one):

a) refers to the entire HTML tag for the current object
b) refers to the name field  in the HTML tag for the current object
c) refers to the event handler in the HTML tag for the current object
d) refers to the value field  in the HTML tag for the current object
#6. (1/2 Point) In hypertext, an anchor (Circle one)

a) Is the root node after structural analysis

b) Links a child back to the root node 

c) Is the specific part of the source node for a link

d) Is the first link in a series of links

#7.  (1/2 Point) Bush invented Memex, (Check all that apply)

a) A digital computer device to view all sorts of written material

b) Because of the explosion of the amount of scientific literature

c) Which allowed the user to organize information

d) Which allowed the user to add links and annotations

e) Which allowed the user to tie 2 items together

f) Which was software to implement nodes and links

#8. (1/2 Point) He is known as the creator of Perl programming language (Circle one)

a) Ted Nelson

b) Doug Englebart

c) Vannevar Bush

d) Larry Wall

e) None of these

#9-#10  Consider the following graph:
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#9. (1/2 Point)  The above graph would have a __________  Compactness:

a) 0

b) low

c) high

d) 1

#10. (1/2 Point) The above graph would have a __________  Stratum:

a) 0

b) low

c) high

d) 1

#11. (1/2 Point)  An application which allows two machine to communicate using a socket requires (Circle one)

a) one of the machines to implement the HTTP protocol

b) both machine to implement client capabilities, and one of them to implement server capabilities

c) Both machines to use the same source code

d) Both machines to use the same source code, but one must be told to open the socket first

e) One of them must implement a server socket and the other one a client socket

#12. (1/2 Point)  A Java socket is an abstraction for communication using (Circle one)

a) The TCP Protocol

b) The IP protocol

c) The HTTP protocol

d) The CGI protocol

#13. (1/2 Point) MIME (Check all that apply)

a) Was originally developed for email

b) Is used to specify to the browser the form of the file returned by the server

c) Is part of the HTTP protocol

d) None of these

#14. (1/2 Point)  What follows the header fields in both an HTTP Request and Response (Circle one)?

a) The HTTP Request/Response type

b) A Blank Line

c) The Message Body

d) The HOST header

#15. (1 Point)  Javascript (Check all that apply) You may add notes after an answer if you wish

a) Is dynamically typed

b) Is Object-oriented (that is, it has class-based inheritance etc.)

c) Is Strongly typed

d) Is a general purpose programming language

e) Can be used for Applets and Servlets

f) Is Client-side

g) Is Server-side

h) Is Client-side and/or Server-side

i) Is a markup language

j) Is a scripting language

k) Is Useful for Form Processing

l) Is a subset of SGML

m) Is a subset of XML

n) Can be embedded in HTML documents

o) Is an SGML application

p) Is an XML application

q) Has event-driven computations

r) Is generally compiled

s) Is generally interpreted

t) Has powerful graphics facilities

#16. (1 Point)  Perl CGI (Check all that apply) You may add notes after an answer if you wish

a) Is dynamically typed

b) Is Object-oriented (that is, it has class-based inheritance etc.)

c) Is Strongly typed

d) Is a general purpose programming language

e) Can be used for Applets and Servlets

f) Is Client-side

g) Is Server-side

h) Is Client-side and/or Server-side

i) Is a markup language

j) Is a scripting language

k) Is Useful for Form Processing

l) Is a subset of SGML

m) Is a subset of XML

n) Can be embedded in HTML documents

o) Is an SGML application

p) Is an XML application

q) Has event-driven computations

r) Is generally compiled

s) Is generally interpreted
t) Has powerful graphics facilities

#17. (1 Point)  PHP (Check all that apply) You may add notes after an answer if you wish

a) Is dynamically typed

b) Is Object-oriented (that is, it has class-based inheritance etc.)

c) Is Strongly typed

d) Is a general purpose programming language

e) Can be used for Applets and Servlets

f) Is Client-side

g) Is Server-side

h) Is Client-side and/or Server-side

i) Is a markup language

j) Is a scripting language

k) Is Useful for Form Processing

l) Is a subset of SGML

m) Is a subset of XML

n) Can be embedded in HTML documents

o) Is an SGML application

p) Is an XML application

q) Has event-driven computations

r) Is generally compiled

s) Is generally interpreted
t) t) Has powerful graphics facilities

#18. (1 Point)  XML (Check all that apply) You may add notes after an answer if you wish

a) Is dynamically typed

b) Is Object-oriented (that is, it has class-based inheritance etc.)

c) Is Strongly typed

d) Is a general purpose programming language

e) Can be used for Applets and Servlets

f) Is Client-side

g) Is Server-side

h) Is Client-side and/or Server-side

i) Is a markup language

j) Is a scripting language

k) Is useful for Form Processing

l) Is a subset of SGML

m) Is a subset of XML

n) Can be embedded in HTML documents

o) Is an SGML application

p) Is an XML application

q) Has event-driven computations

r) Is generally compiled

s) Is generally interpreted

t) Has powerful graphics facilities

#19. (1 Point)  Java for servlets (Check all that apply) You may add notes after an answer if you wish

a) Is dynamically typed

b) Is Object-oriented (that is, it has class-based inheritance etc.)

c) Is Strongly typed

d) Is a general purpose programming language

e) Can be used for Applets and Servlets

f) Is Client-side

g) Is Server-side

h) Is Client-side and/or Server-side

i) Is a markup language

j) Is a scripting language

k) Is Useful for Form Processing

l) Is a subset of SGML

m) Is a subset of XML

n) Can be embedded in HTML documents

o) Is an SGML application

p) Is an XML application

q) Has event-driven computations

r) Is generally compiled

s) Is generally interpreted

t) Has powerful graphics facilities

#20. (1/2 Point)  XHTML is essentially:

a) HTML 4.01

b) HTML with embedded PHP

c) A subset of XML

d) HTML with Javascript

#21. (1/2 Point) Java Applets are run on servers and result are displayed in client browsers.
a) True

b) False

#22. (1/2 Point)  CSS is primarily concerned with _____ rather than style

a) Output

b) Structure

c) Content

d) Presentation

#21. (1/2 Point)  CSS Style Sheets can be used to define print layout also?

a) Yes

b) No

Part II  Short Answers

#22. (1/2 Point)     ____  is a popular unreliable transport layer protocol.
#23. (1/2 Point)  What is the Javascript object that represents the Window into which the browser displays documents?

#24. (1/2 Point) Why shouldn’t document.write be used in a Javascript event handler (that is, what does it do that you might not want?)

#25. (1/2 Point)  HTTP is stateless. What does this mean?

#26. (1/2 Point) What are namespaces in XML and what are they used for?
#27. (1/2 Point) What is a web server? What can it be used for?

#28. (1/2 Point) What is a dtd in XML, and how can it be used?

#29. (1/2 Point) Validation of data entered in an HTML form can be done either client-side or  server-side. What are the advantages of doing it on the server-side?

#30. (1/2 Point) What does Perl stand for?
#31. (1/2 Point)  What three factors affect navigation in  a hypertext?

#32. (1/2 Point) What are the properties a hypertext index should have?

#33. (1/2 Point) What protocol allows multiple objects to be transferred within one TCP connection? 

#34. (1/2 Point) Name 2 InetAddress Class methods

#35. (1/2 Point) Name 2 java.net.URL methods

#36. (1/2 Point) Name 2 java.net.socket methods

#37. (1/2 Point) Name any two servlet containers. 
#38. (1/2 Point) What is the major difference between HTML and XHTML?

#39. (1/2 Point) What is the format of an HTTP  request?

#40. (1/2 Point) What is the format of an HTTP  response?

#41. (1/2 Point) Show an example of a possible first line of an HTTP Request.

#42. (1/2 Point) Show an example of a possible first line of an HTTP Response.

#43. (1/2 Point) Name 3 HTTP methods

#44. (1/2 Point) Name 3 HTTP Request Headers

#45. (1/2 Point) Name 3 HTTP Response Headers including any required for HTTP 1.1.

#46. (1/2 Point) What is a possible Status Code for a HTTP Response to indicate a server error?

#47. (1/2 Point)  What are the three levels of CSS Style Sheets? Show them in the order they will be searched for by the browser.

#48. (1/2 Point)  What is the critical property for a computer to be considered a web-server?

#40. (1/2 Point) What do the letters in “PHP” stand for?

#41. (1/2 Point) What is the ouput from a PHP script?

#42. (1/2 Point) To use an applet in HTML 4.01, you use public class class_name extends ?????:

Part III 

#43. (1/2 Point) Using Javascript, what would you type to cause the action in the form below to take place?


<form name = “myForm” action = “...”>



<input type = “button”  name = “select”>


</form>

#44. (1/2 Point) Name 2 advantages of servlets over CGI

#45. (1/2 Point) How can you tell if an HTTP form request uses GET or POST?

#46. (1/2 Point)  Show a javascript to display “Hello World” on a web page

#47. (1/2 Point) Show a Perl/CGI script display “Hello World!” on a web page.

#48. (1/2 Point) Show a PHP script to display “Hello World!” on a web page.

#49. (1/2 Point) Show a Servlet to display “Hello World!” on a web page.

#. - #. Structural Analysis of hypertext. Consider the following graph:


[image: image2.png]



#50. (1/2 Point) Create the converted distance matrix (use the number of nodes, 4, for k)

#51. (1/2 Point) Compute COD, ROC, CID, RIC and CD. Show them on your matrix above.

#52. (1/2 Point) Compute index nodes and reference nodes (indicate the best, if none),  and create the best hierarchy (show cross reference links also) you can from this information.

#53. (1/2 Point) a) Compute Compactness. b) Explain what this number means

#54. (1/2 Point) a) Compute Stratum. b) Explain what this number means
#55. (3 Points)  Consider a   document consisting of a car_catalog. The car_catalog lists make, model, year and possible accessories for each car. Accessories (use attributes) consist of  radio, airconditioning and  power-steering: The accessories are either there or not (i.e., thir value is yes or no). Use f  as an abbreviation (entity) for Ford, c for Ford, and t for Toyota. 

a) Show a dtd for a car_catalog.

b) Show a source file for a directory of 3 cars: 1) a 1997 Chevrolet Impala with a radio, air-conditioning and power-steering, 2) a 1965 Ford Mustang with a radio, but no air-conditioning and no power-steering, and 3) a 1985 Toyota Camry with a radio and air-conditioning, but no power-steering

c) Show an XML schema for the above

d) Show a CSS that will display the make and model in blue 12 pt font, the year in green 10 pt font, and the accessories in black 12 pt. Italics. (If you cannot remember syntax, like font-style, use an approximae name.

e) Same as part d but in XSL

f) Show the DOM model for the file in Part b

Part IV (2 points). There are no right or wrong answers
1. What technologies could make this course better?

2. Background

 Please put a 0 (didn’t know it at all), 1 (knew it a little), 2 (knew it medium well), 3 (knew it very well) to indicate what you knew before the course began:

a) HTML                ___

b) HTML 4.0          ___

c) Web Forms         ___

d) Client-Server      ___

e) HTTP
                ___

f) DOM                   ___

g) TCP/IP           
    ___

h) Javascript            ___

i) Dynamic HTML ___

j) Cookies               ___

k) Session Tracking ___

l) CGI                     ___

m) Perl                      ___

n) Perl CGI            ___

o) PHP                   ___

p) HTTP                 ___

q) Environments

& Environment

Variables            ___

r) Java Event

Handling            ___


s)   Applets

t) Java Network

Programming     ​​​___

u) Java Socket

Programming     ​​​___

v) Hypertext  

(anchors, 

navigation etc.)  ___

w) Adaptive 

Hypertext           ___

x) Structural

Analysis of

Hypertext           ___

y) Multimedia

Systems              ___

z) Multimedia 

Design                ___

aa) Web Servers       ___

ab)  Servlets              ___

ac) Structured

Documents          ___

      dd) SGML                 ___

      ee)  XML                   ___

af) DTD’s

ag) XML Schemas    ___

ah) XSL                    ___

     3. How often did you read the bulletin board?

     4. Did you ever post to the bulletin board?

a) Yes
b) No
Future Distance Learning (or not)

     5. Would you like to take (other) courses by distance learning
?

a) Yes

b) No

    6. Do you think Course Management Systems are important for distance learning and why or why not? Also, are there tools besides bulletin boards, chat rooms, grade access etc. that you think would be useful?

    7. What changes do you think should be made to the material or (web) presentation of this course?

   8.  What else can or would you like to tell me?

� If you really would, I am teaching Compilers by Distance Learning this summer. Contact me.
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